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7 100kN/mM%E#BZ 5 - -~ - -|3mEFBZD -~ - -| 100kN/m#%#8% % - -~ -|3mEEZD -~ - - -
s 1.00 | 0.00 ~ 4.40 54.87 | =hLs | 000 ~ 440 1.96 10.47 Thlst 1.00 | 6.00 ~ 6.00 54.87 | =n4 | 5.00 ~ 6.00| 1.96 10.47
2 100kN/m%E#BZ25 | 1.00| 000 ~ 149 122.77 |3mEHBZS -~ -1 100kN/mM%&#z25 | 1.00 | 1085 ~ 1576 122.77 |3m&x#z 5 -~ - - -
s 1.00 | 1.49 ~ 928 100.00 | =nLst | 0.00 ~ 9.28| 2.62 13.48 st 1.00 | 6.00 ~ 1085 100.00 | =hLSt | 6.00 ~ 1576 2.62 13.48
3 100kN/mM%E{BZ % - -~ - -|3mEFBZD ~ -| 100kN/m#%#8% % ~ -|3m%EiBR D -~ - - -
st 1.00 | 0.00 ~ 766 9819 | =Nt | 000 ~ 7.66| 229 12.25 st 1.00 | 5.00 ~ 1041 98.19 | =ns | 5.00 ~ 1041] 2.29 12.25
4 100kN/mM%E#BZ % - -~ - -|3mEFBZD ~ -| 100kN/m#%#8% % ~ -|3mEEZ D -~ - - -
ZhLst 1.00 | 0.00 ~ 5.81 72.73 | FNSY | 000 ~ 581 | 1.81 9.70 zhLst 1.00 | 6.00 ~ 6.60 7273 | EnLS | 6.00 ~ 660 1.81 9.70
5 100kN/mM%E#BZ % - -~ - -|3mEFBZD ~ -| 100kN/m#%#8Z% % ~ -|3mEEZD -~ - - -
s 1.00 | 0.00 ~ 4.74 59.05 | FnS | 000 ~ 4.74 | 1.79 9.69 Thst 1.00 | 6.00 ~ 56.00 59.05 | =ns | 5.00 ~ 6.00| 1.79 9.569
p 100kN/mM%EBZ % - -~ - -|3mEFBZD ~ -| 100kN/m#%#8% % ~ -|3m%EiBZ D -~ - - -
s 1.00 | 0.00 ~ 490 61.10 | =hdst | 000 ~ 490 | 1.90 10.19 Thst 1.00 | 6.00 ~ 5.50 61.10 | =hSt | 6,00 ~ 5650 1.90 10.19
7 100kN/mM%E{BZ % - -~ - -|3mEFBZD ~ -| 100kN/m#%#8% % ~ -|3mEiBR D -~ - - -
ThLst 1.00 | 0.00 ~ 4.92 61.37 | Thst | 0oo ~ 492 1.86 9.97 Zhst 1.00 | 6.00 ~ 640 61.37 | NS | 6.00 ~ 6.40| 1.86 9.97
g 100kN/MZ#8Z % - ~ - -|3mEEZD ~ -| 100kN/mM%#8 %% ~ -|13m#EEZ S -~ -
FhLst 1.00 | 000 ~ 4.74 59.06 | =ns | 000 ~ 4.74)| 1.79 9.569 zhst 1.00 | 6.00 ~ 56.00 59.06 | =nLs | 5,00 ~ 600\ 1.79 9.69
100kN/MZ#2Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhs ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/M%#8Z % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/MZ#2 2 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thilst ~ TnLst ~ ZznLst ~ Zzhust ~
100kN/mMZ#8 2 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEHEAD ~ 100kN/mM%E# 25 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zhust ~
100kN/MZ#82 % ~ 3mEHBAD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zhust ~




